2004 BHCSI Introduction to Java

Test #1 Solutions

7/9/04

1) (9 pts) Write a single print statement to print out each of the following:

a) BHCSI Rocks!

b) A newline character is \n.

c) This one is \\ multiple

  lines

     indented three spaces.

a) System.out.println("BHCSI Rocks!");
b) System.out.println("A newline character is \\n.");
c) System.out.println

("This one is \\\\ multiple\nlines\n   indented three spaces.");
2) (6 pts) What is the output of the following program?

public class Question2 {

  public static void main(String[] args) {

    int x, y = 7, z = 3;

    x = y/z*2;

    y = 16 - (x*y%6);

    z = x - (13 - (z - (12 + y%9)));

    System.out.println("x = "+x+" y = "+y+" z = "+z);

  }

}

x = 4 y = 12 z = -21

3) (10 pts) The program below prompts the user for the weight of a box of cereal, the weight of a serving of cereal, along with the number of calories in a serving. Complete the program so that it prints out the total number of calories one would consume if they ate the entire box in a sitting. Declare any extra variables you need and make sure your calculation is accurate. (ie. the answer may not be an integer.)

public class Question3 {

  public static void main(String[] args) {

    BufferedReader stdin = new BufferedReader(






new InputStreamReader(System.in));

    System.out.println("Enter the weight of cereal(.oz)");

    int weight = Integer.parseInt(stdin.readLine());

    System.out.println("Enter the weight of a serving");

    int serving = Integer.parseInt(stdin.readLine());

    System.out.println("Enter the calories in a serving.");

    int calories = Integer.parseInt(stdin.readLine());

    double total = 1.0*calories*weight/serving;

    return total;

  }

}

4) (10 pts) Assuming that x = 3, y = 4 and z = 5, evaluate each of the following boolean expressions:

a) (x+y) >= z+2





true
b) z - y%x != y - x/z



false
c) y%(z - x) == (z*z - x*x - y*y)

true
d) x*(y+z) <= z*(x+y)



true

e) (x+y)/z > z/y




false

5) (15 pts) You work as a cashier and get paid overtime if you work more than 40 hours in a week. In particular, you get paid 50% more than your normal rate for each hour over 40 hours that you work in a week. Write a program where you prompt the user for their normal hourly rate, as well as the total number of hours they have worked in the week. Based on this information, print out a sentence stating exactly how much the user made in their work week.

public class Question5 {

  public static void main(String[] args) {

    BufferedReader stdin = new BufferedReader(






new InputStreamReader(System.in));

    System.out.println("What is your normal hourly rate?");

    double payrate = Double.parseDouble(stdin.readLine());

    System.out.println("How many hours did you work?");

    int hours = Integer.parseInt(stdin.readLine());

    double totalpay;

    if (hours <= 40)

      totalpay = payrate*hours;

    else

      totalpay = payrate*40 + payrate*1.5*(hours-40);

    System.out.println("You earned $"+totalpay+".");

  }

}
